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012131 4567 898 : ;< =>?@; A>;BC;B=D
EF;G=H =< ?@>;
X = 4, 7, 11, 14, 16
p = a, b, 49, 33, 8
M(X) = 10.9200

+
D(X) = 9.2416

012131 4567 87 8 : IJ?K<;J?@; A>>;
AF ILB;>G< ?@>;
X = 5, 7, 10, 13, 16
p = a, b, 47, 38, 3
M(X) = 9.9538

+
D(X) = 7.1056

012131 4567 86 8 M NK?@ M H =C< =O
P=Q;OF?@=R
X = 4, 6, 10, 14, 15
p = 5, 35, a, b, 3
M(X) = 9.9764

+
D(X) = 11.2042

012131 4567 8S 8 T ?U II@ A<CIH
AFILB;>G< ?@=R
X = 4, 6, 9, 13, 16
p = 4, a, b, 37, 5
M(X) = 9.5691

+
D(X) = 9.5623

012131 4567 8V 8 W ?X@=>IY A<CIH
AF ILB;>G< ?@=R
X = 4, 8, 9, 13, 17
p = b, 38, 41, a, 11
M(X) = 10.2424

+
D(X) = 9.5776

012131 4567 8Z 8 P ;FD>?@ [ @;> \< ]I@=R
X = 4, 8, 11, 13, 16
p = 3, a, b, 35, 3
M(X) = 10.5935

+
D(X) = 5.5583

012131 4567 8^8 _D KYI@ A>G< IO
P ;<;C?@=R
X = 4, 6, 11, 12, 15
p = 7, 36, a, b, 4
M(X) = 9.5082

+
D(X) = 8.7417

012131 4567 8` 8 a;ObNF ;I@ P NB;
_ NBF ;>?@=R
X = 3, 8, 10, 13, 17
p = a, b, 47, 31, 11
M(X) = 10.6000

+
D(X) = 7.8862

012131 4567 8c 8 aH =< >?@ d ;@IF
A>G< II@=R
X = 4, 6, 10, 14, 15
p = b, 34, 44, a, 3
M(X) = 9.7661

+
D(X) = 11.7759

012131 4567 89e 8 fgX;>?@ M H =C< =O
A>G< II@=R
X = 4, 7, 10, 12, 16
p = 4, 36, a, b, 9
M(X) = 9.9528

+
D(X) = 7.3678

012131 4567 8998 E ;B=> d ;@IF
X = 3, 8, 10, 12, 16
p = 3, 38, a, b, 5
M(X) = 9.9600

+
D(X) = 4.8224

012131 4567 897 8 d ?Q @;F=C?@; A>>;
AF ILB;>G< ?@>;
X = 4, 7, 10, 13, 17
p = 7, 37, a, b, 10
M(X) = 10.2029

+
D(X) = 10.1617

012131 4567 896 8 aI>R=Q=>; M ;< ]D
AF ILB;>G< ?@>;
X = 5, 6, 10, 13, 17
p = a, b, 46, 37, 9
M(X) = 10.0379

+
D(X) = 11.3243

012131 4567 89S 8 h;H iQ;O EN jklmn
olmp qrs
X = 4, 7, 10, 13, 16
p = b, 37, 46, a, 4
M(X) = 9.7381

+
D(X) = 8.0028



012131 4567 89V 8 _?H I< ? P ?>=L; jtun vwu
x uypzms
X = 4, 8, 11, 13, 16
p = b, 38, 48, a, 8
M(X) = 10.5324

+
D(X) = 7.8892

012131 4567 89Z 8
X = 4, 7, 9, 13, 15
p = 8, a, b, 33, 4
M(X) = 9.4098

+
D(X) = 8.0615


